
MATHS

BOOKS - S CHAND MATHS (ENGLISH)

SELF ASSESSMENT PAPER 1

Section A

1. Find the domain and range of the function 
.

A. 

B. 

C. 

D. 

Answer:

W h Vid S l i

f(x) =
x2 − 9
x − 3

f(x) = R + {3}

f(x) = R − {3}

f(x) = {3} − R

f(x) = {3} + R

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_dJEm0xuy9f9E


Watch Video Solution

2. The value of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

cos 225∘

√2

−√2

1

√2

−
1

√2

3. The value of  is

A. 0

B. 1

C. 

tan(π + x)tan(π − x)cot2 x

−1

https://dl.doubtnut.com/l/_dJEm0xuy9f9E
https://dl.doubtnut.com/l/_jpAwqILK93Cr
https://dl.doubtnut.com/l/_4GJm2IyNuUOe


D. Not defined

Answer:

Watch Video Solution

4. The conjugate of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

5 − 7i

− i
5

74
7
74

+ i
5

74
7
74

− i
7
74

5

74

+ i
7
74

5

74

https://dl.doubtnut.com/l/_4GJm2IyNuUOe
https://dl.doubtnut.com/l/_n1trShEMiGdN


5. If  are the roots of the quadratic equation , then

the value of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

α and β ax2 + bx + 1

2α2β2

1

a2

1

b2

2

a2

2

b2

6. The number of terms in the expansion of  is

A. 40

B. 41

C. 42

D. 43

(1 − 10x + 25x2)
20

https://dl.doubtnut.com/l/_HvtIDRDlJlMV
https://dl.doubtnut.com/l/_pKDXegMxWA86


Answer:

Watch Video Solution

7. The values of x for which the numbers  are in G.P. is

A. 0

B. 

C. 

D. 

Answer:

Watch Video Solution

, x,
4
5

5

4

−1

+1

±1

8. If the origin is shifted to , then the new co-ordinates of 

will be

(5, − 5) (4, 6)

https://dl.doubtnut.com/l/_pKDXegMxWA86
https://dl.doubtnut.com/l/_vEXnBTU5ojS0
https://dl.doubtnut.com/l/_VlycdgXwbEPq


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

( − 1, 11)

(11, − 1)

( − 1, − 1)

( − 11, − 11)

9. The equation of the circle with centre  and radius 7 is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(0, 7)

x2 + y2 + 14 = 0

x2 + y2 − 14 = 0

x2 + y2 + 14y = 0

x2 + y2 − 14y = 0

https://dl.doubtnut.com/l/_VlycdgXwbEPq
https://dl.doubtnut.com/l/_tF7VFGE9rVDU


10.  is equal to

A. 

B. 

C. 5

D. 

Answer: A::C

Watch Video Solution

lim
x→ 0

sin 5x

x

52

1

52

1/5

11. Find the number of ways in which 5 boys and 3 girls can be seated in a

row so that no two girls are together.

Watch Video Solution

https://dl.doubtnut.com/l/_tF7VFGE9rVDU
https://dl.doubtnut.com/l/_SUwzhavaF8C1
https://dl.doubtnut.com/l/_bpakywWvGskA


12. Find the derivative of  with respect to x.

Watch Video Solution

9x2 + + 5 sinx
3

x

13. In a single throw of two dice, determine the probability of not getting

the same number on both the dice.

Watch Video Solution

14. Find the angle between the x-axis and the line joining the points

.

Watch Video Solution

(3, − 1) and (4, − 2)

15. Find the middle term(s) in the expansion of .

Watch Video Solution

(x2 − )
6

1

x

https://dl.doubtnut.com/l/_sVY1Bf7X9MQW
https://dl.doubtnut.com/l/_7KbmMOlWYKsH
https://dl.doubtnut.com/l/_5afOv7wv4qsc
https://dl.doubtnut.com/l/_yTM8taQTMrIL


16. For any set A and B, show that 

Watch Video Solution

(A − B) = (A ∩ B' )

17. Let  


Let R be a relation is less than from A to B. 

Find the domain, co-domain and range of R,

Watch Video Solution

A = {1, 2, 3, 4, 5} and B = {1, 4, 5}

18. Let  


Let R be a relation is less than from A to B. 

Find the domain, co-domain and range of R,

Watch Video Solution

A = {1, 2, 3, 4, 5} and B = {1, 4, 5}

19. Find the general value of x for which .√3 cos ecx = 2

https://dl.doubtnut.com/l/_gPCvD5jrGNmY
https://dl.doubtnut.com/l/_WNrGjUuQITDM
https://dl.doubtnut.com/l/_mKIxWzGVmU9K
https://dl.doubtnut.com/l/_jdRuEprX8OJ3


Watch Video Solution

20. prove that 

Watch Video Solution

sin 2x + 2 sin 4x + sin 6x = 4 cos2 x. sinx

21. Solve : 

Watch Video Solution

4 sinx. cos x + 2 sinx + 2 cos x + 1 = 0

22. Represent the complex number  in the polar form.

Watch Video Solution

−2i

23. If one root of  is square of the other, then find the

value of k.

Watch Video Solution

x2 − x − k = 0

https://dl.doubtnut.com/l/_jdRuEprX8OJ3
https://dl.doubtnut.com/l/_EUHKYCikM2Mx
https://dl.doubtnut.com/l/_e6rSWEvdXMhv
https://dl.doubtnut.com/l/_q0VV7i98Qb98
https://dl.doubtnut.com/l/_rFDmwgYUZSsL


24. Draw the graph of the function 

Watch Video Solution

f(x) =
⎧⎪
⎨
⎪⎩

1 if x > 0

0 if x = 0

-1 if  x < 0

, x ∈ R

25. If , then find .

Watch Video Solution

f(x) = and α + β =
cot x

1 + cot x

5π

4
f(α). f(β)

26. In any , prove that 


.

Watch Video Solution

ΔABC

a cosA + b cosB + c cosC = 2a sinB sinC

27. Prove by the principle of Mathematical Induction that 

, for all .

logxn = n logx

n ∈ N

https://dl.doubtnut.com/l/_rFDmwgYUZSsL
https://dl.doubtnut.com/l/_GVM6P9uMPDzC
https://dl.doubtnut.com/l/_bhxSf4cKJkFz
https://dl.doubtnut.com/l/_mrrwmv9y8Q8Q
https://dl.doubtnut.com/l/_FhglCCh71atg


Watch Video Solution

28. Find the derivative of  using the first principle of

differentiation.

Watch Video Solution

√2x + 3

29. Evaluate: .

Watch Video Solution

lim
x→ 0

sin 5x

tan 3x

30. If the coefficient of second, third and fourth terms in the expansion of

 are in A.P. then show that .

Watch Video Solution

(1 + x)2n 2n2 − 9n = − 7

https://dl.doubtnut.com/l/_FhglCCh71atg
https://dl.doubtnut.com/l/_B9uUYu1j2Fsk
https://dl.doubtnut.com/l/_1x2TcoY3fB4O
https://dl.doubtnut.com/l/_QO6Be34tH12F


31. Find a positive value of m for which the coefficient of  in the

expansion of , is 6.

Watch Video Solution

x2

(1 + x)m

32. The sum of three consecutive terms of an AP is 15 and their product is

105, find numbers.

Watch Video Solution

33. Find the equation of a circle concentric with the circle

 and double of its area.

Watch Video Solution

2x2 + 2y2 − 6x + 8y + 1 = 0

34. Find the equation of the lines through the point  which make an

angle of  with the line

(3, 2)

45∘

https://dl.doubtnut.com/l/_bJC59U85QO4b
https://dl.doubtnut.com/l/_wZCwL3JTCu68
https://dl.doubtnut.com/l/_dortZNq4xyFq
https://dl.doubtnut.com/l/_7O5e9dG68Mr5


Section B

Watch Video Solution

35. Given below are the diameters of circles (in mm) drawn in a design. 

 


Calculate the mean diameter of the circles, variance and standard

deviation.

Watch Video Solution

Diameter 33 − 36 37 − 40 41 − 44 45 − 48 49 − 52

Number of Circles 15 17 21 22 25

1. The eccentricity of the hyperbola  is

A. 

B. 

C. 

D. 

x2 − y2 = 9

√2

−√2

√3

−√3

https://dl.doubtnut.com/l/_7O5e9dG68Mr5
https://dl.doubtnut.com/l/_bKsSQKE2nvVf
https://dl.doubtnut.com/l/_TbX1eVLfKKRr


Answer:

Watch Video Solution

2. The distance of the point  from the XY plane is

A. 2 unit

B. 4 units

C. 6 units

D. 8 units

Answer:

Watch Video Solution

(4, 5, 6)

3. Find the equation of parabola whose focus is  and directrix 

.

Watch Video Solution

(6, 0)

x = − 6

https://dl.doubtnut.com/l/_TbX1eVLfKKRr
https://dl.doubtnut.com/l/_gIHxEEWvedn1
https://dl.doubtnut.com/l/_NNBERk83C8Eg


4. Find the equation of the ellipse whose focus is , the

corresponding directrix  and eccentricity .

Watch Video Solution

(1, − 2)

x − y + 1 = 0
2

3

5. Write the negation of the statement ''Product of 5 and 6 is 30''?

Watch Video Solution

6. Check the validity of the statement given below by contradiction

method. 

'Sum of a rational number and an irrational number is an irrational

number.'

Watch Video Solution

https://dl.doubtnut.com/l/_NNBERk83C8Eg
https://dl.doubtnut.com/l/_UvgXbIAIwjwN
https://dl.doubtnut.com/l/_2Wqd1PtUCKwM
https://dl.doubtnut.com/l/_6zghx13ks52K


7. If it is known that Anita is rich, while Sunita is poor, assign truth values

of following statement Anita is poor or Sunita is rich.

Watch Video Solution

8. If the foci of the ellipse 
 and the hyperbola 


coincide, then find the value

Watch Video Solution

+ = 1
x2

16

y2

b2

− =
x2

144

y2

81

1

25

9. Find the length of the major axis of the ellipse whose focus is 

directrix is  and ecentricity is .

Watch Video Solution

( − 1, 1)

x − y + 3 = 0
1

2

10. Find the locus of the point, the sum of whose distances from the

points
 
is equal to 10.A(4, 0, 0)and B( − 4, 0, 0)

https://dl.doubtnut.com/l/_wS8LvP26Cg0r
https://dl.doubtnut.com/l/_90Hda8PMGPJx
https://dl.doubtnut.com/l/_V3GqPm8ZUS3S
https://dl.doubtnut.com/l/_Vm0uQI0ki65E


Section C

Watch Video Solution

1. The wholesale price index (o price relative) of tomatoes in 2018

compared to 2016 is 150. If the cost of tomatoes was ₹ 15 per kg in 2016,

calculate the cost in 2018.

A. (a)16.5

B. (b)

C. (c)24

D. (d)

Answer:

Watch Video Solution

16.00

15.00

2. Q2 is always equal to

https://dl.doubtnut.com/l/_Vm0uQI0ki65E
https://dl.doubtnut.com/l/_H6AkoVfl5NG9
https://dl.doubtnut.com/l/_9xOJTzEk4q7c


A. P10

B. P25

C. P50

D. P75

Answer:

Watch Video Solution

3. Compute a price index for the following by simple aggregate method : 

Watch Video Solution

Commodity A B C D E F

Price in 1986 (₹) 20 30 10 25 40 50

Price in 1991 (₹) 25 30 15 35 45 55

4. Find the Q2 for the following distribution: 6, 7, 8, 3, 11, 19, 10, 15, 17, 13,

20, 5, 18

Watch Video Solution

https://dl.doubtnut.com/l/_9xOJTzEk4q7c
https://dl.doubtnut.com/l/_Jb7dX3s16aAF
https://dl.doubtnut.com/l/_batJDMqZwjiU


5. Compute  for the following distribution : 3, 13, 11, 11, 5, 4, 2

Watch Video Solution

D3

6. Out of total sample survey of 100 nuts, in a first sample survey of 35

items has mean 80 and standard deviation 4. A second sample survey of

65 items has mean 70 and standard deviation 3. Find the mean and

variance of combined 100 sample nuts.

Watch Video Solution

7. The following table gives information regarding weekly income of

labourer working at a dam site. 

Calculate the (i) median (ii) lower quartile (iii) upper quartile (iv) 5th

decile.

h id l i

Income in (₹) 200 − 300 300 − 400 400 − 500 500 − 600 600 − 70

No. of employees 150 160 130 180 120

https://dl.doubtnut.com/l/_batJDMqZwjiU
https://dl.doubtnut.com/l/_1TM1taIa5u92
https://dl.doubtnut.com/l/_iEuaW02teFPA
https://dl.doubtnut.com/l/_37XQs3T35AB8


Watch Video Solution

8. While calculating correlation coefficient between two variables x and y

for 30 pairs of observation, the students observed the following results: 

 


On rechecking, it was found that he had wrongly copied one pir as 

whereas value is  calculate the correct correlation coefficient

between x and y.

Watch Video Solution

Σx = 135, Σx2 = 680, Σy = 110, Σy2 = 485 and Σxy = 530

(5, 8)

(7, 9)

9. Calculate spearman's rank correlation coefficient between the

advertisement cost and sales cost of making a Maggie. The following data

is given below. 

Watch Video Solution

Advertisement cost (₹ in thousand) 40 32 38 32 50 60 55

Sales (₹ in lakhs) 32 35 43 40 42 50 70

https://dl.doubtnut.com/l/_37XQs3T35AB8
https://dl.doubtnut.com/l/_byx5VlNsauso
https://dl.doubtnut.com/l/_bzDjbWuvsVpH


10. Find the consumer price index for 2018 on the basis of 2015 from the

following data using a weighted average price relative method. 

Watch Video Solution

https://dl.doubtnut.com/l/_pPYCLyFTJXH4

